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D C B A Questions / =iy Jpﬂ
| 1, (1.-1) ()| 1,-D ]f=€-f-'lf-(x;yl)?f§)x;)l,g+l)=(0.,0)f' L
: -1,y )-(., ), then (x, y) is: ]
| J7 i 0 2 e bk (1, 1) 41 (0,0) 58 5 |
- Distance between points (0, 0) and (1, 1) is:
4 3 2 1 _‘LL"M,:)I}I:/’B'____' J/‘w:;«c".,gl 3
{ A triangle has only _ right angle.
{ gl Lud AL LIS s :
|
5 4 3 2 The bisectors of AL mf Al 4
angles on the same sides of
parallelogram cut each other at right angle. ~
e bt S P o e
5 2 4 3 Bisection means to divide into _equal | 3
parts. i
! sl Loyt J:Ilf‘ e -kﬂg.ﬁ_m fd/,l/,d/u}':”.» & ;
i Mode Mean Concurrent | Proportion |Equality of two ratios is called: g
? SRl ek GKedh= 5650 ]
;’ < = U N The triangular region area = area of L7
[ hsuidary line interior of triangle.
S e sl 2l ..wd".f JL_/».,'Q/'JLCMUUJ’;’ g
. | , ] The diagonals of a parallelogram ____ each
Parallel Bisect rerpendicular| Trisect |other.
- - -
| B = | rbihi L
2-by-2 3-by-3 2-by-3 3-by-2 9
02 =5 1.
The order of transpose of [0 I 31 is:
£ 3.4 SO,
P //\ :?@\{%}r%fu"*’tjm&”c Q4 Q b :
QUQ'=R | QNQ'=Z | QUQ'=N | QNQ =R |5 Qund,Q’ dre 'rational and irrational 10
nuinbets.then:
: P ‘ A p \? " p 2
plog2-2logq|—(logp-logq) |2(logp - logq)|2log p - rf’%% The value of log{-J is: e=dlog| 2 1
- | g g q)
24 22 23 21 (5-3)(5++/3)=1 12|
|
: 5 17 o 6 |
(x=2)(x=3) {(x+2)(x+3) | (x+6)(x=1) |[(x +1)(x=6) , BlPLIBLR =B HE ] g |
The factors of x* —5x +6 are: |
3 |
| w1 p°q? —plq  ipiq-pg® | |
’ 3_.3 D D 2_ o2 q(p-q) z ) 14
;. PA(P”~q’) | p"q°(p-q) | pa(p°-q®) | pPalp HCF. of pq—pq® and p°q? —p3q’ is: |
j -14 9{nJK3~4xSHablx[f:u&U[ i
{ 3 4 -2 -8 Which is the solution of inequality 15
' [
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3-4x<11?
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_ (Part-1 : Ji»)
Write short answers to any SIX parts.

HeyzfF lngedS 2
B %Hj _g] S U F e i CBREU S ()

L

: (o T P 1 I
Determine whether the given matrices are multiplicative inverse of each other? [3 ZJ,[__Z i !

S 7 1
Simplify: 3y32x7'0y~1 5\/32x"'°y‘15 2 (i)
Simplify and write your answer in the form of a + bi 1—_% :&Vuﬁdﬁgfa + bi .,u?m»é/? Gii)

Find the value of m: log,,4=0.5 log,, 4=0.5 :é:(()”o{"gfm (iv)

Calculate: log,2x log, 81 log;2xlog, 81 :2£f (v)
Define surd. SEAY /Jur(‘ Ik (vD)
If x=4-417 thenﬁnd—)](—. 4{(4”&2({%7){:4—-\/ 17 1 (i)
Factorize: 4x*+81 4x* +81 A (viid)

W L (x=2)F 33 <1021 3%—6 £ e e a0
Use remainder theorem to find remainder when 3x> —10x2 +13x — 6. is divided by (x-2).
-Z’gol..li./‘?édmgaéf o
102xy%z , 85x%yz , 187xyz> :"ér}”‘(‘ylglp Q)

Write short answers to any SIX parts.
Find the HCF: 102xy?z, 85x%yz, 187xyz?

. X=3 x-2 B=3 E=2_ 4 .of b i
Solve: 3 i 1 3 5= 1 .,.é,':()“”./»g)” (i)
Solve: |3x—5| =4 13x-5] =4 :gperf Gibd
Define origin. -né..,é,J/."J(u.i/:l)»by Giv)

Ify=2x+1and x =3, then find y. -g{p"” yInx=3sy=2x+l AW
A(6,2),B(2,4) et Bl ks B d iUz L6, (vi)
Find the mid-point of the line segment joining the pair of points: A(6,2), B(2, 4)

Define isosceles triangle. A ,gquwdutd;u (vii)

g i m U I i)
B c
Sm-3 D 2m+6 _
-sf.gr}’” i SUgid L U138 1300 LI U315 L A i

If one angle of a parallelogram is 130°. Find the measures of its remaining angles. :

ez langedd 4

Find the value of m for the given congruent triangles:

Write short answers to any SIX parts.

A

{ -gfi:r:‘”.:éd/z" 1 X° r,J“'C..‘LJﬂWA ,)UKB V% ABC WCWWU’JV{@ )
If the given triangle ABC is equilateral triangle and AD is bisector of
angle A, then find the value of unknown x° and z°.

YA L] AV
D
?JngdHJéb;ﬁ"éwﬁun 4cm 2! 3cm ung{,M»:de;l)I;ib'Jfﬁ (i)
If 3cm and 4cm are the lengths of two sides of a right angle triangle, then what should be the third length

of the triangle? R
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In isosceles APQR shown in the figure, find value of x and y:

10cm: X

Q 6cm y k-
a=16cm,b=230cm, c=34cm _gﬂ’gc‘,ung,,,:ﬂwugchw:waéae (iv)

Verify that the triangle having the given measures of the sides are right angled or not: a = 16¢m , b= 30cm ,
¢ = 34cm

15:1 » 3 %
Find the value of x : 2 lecm o o /—jmc‘“ :ér}”cfa’u(x )
X X
Define “Area of Figure”. Ew S lﬂf’df (vi)
Find the area of figure: 2em Zem :é:r:‘-”'.}"fgf&fd: (vii)
Sem L . Sem
Construct a triangle ABC in which mAB=4.6cm , mAC=4cm , mZA =60° (407 &t ABC &ds(viii)
Define median of triangle. “E WP e Lk (ix)

<69 Aot 08 Ly iy 7 ebind iy JC,J[:("»,»
Part I1, Attempt any THREE questions. Each question carries 08 marks.
Question No. 9 is compulsory.

2x -3y =4 x+4y=3 Ly Pl A4S I () 5

Solve the linear equation by Cramer’s rule: 2x -3y =4 ;x+4y =3

n AS 4n-1 o) 4n--1 ’
Simplity: B3 -3 24) LB F-Ten) s
(97)3%) (93"
Use log tables to find the value: 0.8176 x 13.64 :“éf.a,u&)w(’»{;f) () -6

-{,_fr)"‘a,{"p(ab-FbcﬂLca}"n atb+c=12. a’+b’+c* =35/ ()
Ifa’+b*+c* =35anda+ b+ c= 12 then find the value of ab + bc + ca.

Solve by factor theorem: x° -2x%-35x+6 X ~2x% 5548 gfd’c;.d/’,l’/ () 7
Use division method to find the square root: :g;ffﬁ”&/ujgf»j.gd ()
' x—i—lol‘—+z7-1o-y~+y—z(x¢o,y¢0)
y y X x
Solve the equation: x + % = 2(x -—%—) - 6% X+ % = Z(X ~-3—j 6x: Z:(}”.fd’ (W) -8

-wz.r,bﬁ(?uf é&ﬁmﬂcwﬂ)uf LZUiel PQR &4 (L)
Construct triangle PQR. Draw their altitudes s and show that they are concurrent:
mPQ =4.5cm mQR 3.9cm , mZR =45°

-c‘,t‘ﬂylﬂld}b'c,uf;}@d:Jl,k’ﬁvgﬂ@J/ULdr)i)J/f"écf.f’ -
Prove that any point on the bisector of an angle is equidistant from its arms.
wes OB [ s

qu;’/!/u’.)"mu:'/l/(,@/lmgﬁﬁ‘Lu?u.?&‘_(f.ff_é:/.b"

Prove that triangles on equal bases and of equal altitudes are equal in area.
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[ﬂ_ D C - B A - Questions / Uiy A \
| w . |
. I\ Il I e Cu AL (2, -3) B |
Point (2, =3) lies in quadrant: .
x>10 x <10 x<10 x=8 Frsre 10 240 x 1 2 ll
"~ . |If x isno larger than 10, then: i
o P a2 _ 2 a3 k3 \
a’ + b’ (a-b)? a+b a’ —ab+b? e 344:’}%(&2 ab+b2 Aaebilog
H.C.F.of a° +b” and a” —ab+b” is: N
. | v . e 1 5 ‘
(x ~1).03x — 2l(x = 1,3 + 2i(x + D, Gx 4 2(x+1),3x=2) UGN —x =20y
; The factors of 3x> - x —2 are: B
! . e
| 1 ] 2 2 2+3)2-3) =2 5|
o) 7 !
¥ X _ g 7 _ . 2u3£fy=logzxuu2:215 &
il B X\ =z Y"=X IThe relation y = log;x implies: IR
, n y=log,x implies: |
vl - |
\ 40 2\/:5 \/25 5\/4—2 4% with radical sign is: :c‘-pﬁgﬁny 4%§ 7 %
| _ ]2 =5 R
BRI E N
L L0 2 0 -3 03 0 3 . i
. o 2 Additive inverse of 2 s, ‘
| ¢ 4 0 3 \
! ] *L x Lu‘l-‘a 30° 1;!).{!/,:4.,,@6' L db AUl \
L2001 90 60° (| 300 SrrsSesigy) 9 |
‘ | | ." ..+ |One angle on the base of an isosceles triangle l
1 ] ; - © w- |is 30°. The measure of its vertical angle is: |
!; ("/de"" i JUX:}IJ:’_ Y XC@JI ‘I‘ %XoﬂW&é\gl :c‘_/_v/,,,?/l((,u.‘vmdjl? 10 E
. _SidexSide [LengthxwidthEBaseXallitude Vaxbasexbltiny Area of a parallelogram is equal to: | |
| | w1 A i ZC Ut ABC 26 {
‘ Y N\, </HDPEABED |
RO — 9 |
s 16 10 5 mBD=__5 11 |
| | B 10 C |
| | In given triangle ABC, CD bisects ZC and ]
! \ meats AB atD. mBD=___ ‘
% = —iEae { J
1 \ _#U$>s 6 AB 13255 CD /i |
I e |
i —_— | E— o — A = ; 4 '
. mOQ | wmOB mOA mBQ |” B mAQE g |
‘ | o If CD is right bisector of line \‘
l | segment AB. Then mAQ=___ B
N Jeo g AL e LIS 13 |
| Adjacent |Complementary] Congruent . Parallel In a parallelogram opposite angles are: - l
L I = e dndi_ewd LSy
- ~ - The symbol used for congruent is: ]
z U:"JJLEI 3 2 1 wi—”bféb'vg’ 15 i
| Noone A line has _end points. \ 1
SRR - r
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Part-1 : J32) FlP— > L}Zz
Write short answers to any SI?( parts. " -é'gau;’/‘? Lozl ‘gc.éf
If A= l 2‘ 0] then find 3A. e 3ATuA = [ (ﬂ S
Simplify: \-64 364 g‘f//‘ G
; ; 3 2.3 ;
Simplify: 5% +(5%) 2 o2y’ W G
Find the value of x: log, 64 =2 log, 64=2 :gi:r:b”cwfd/x (iv)

- log32 7 logs = 0.6990 « log3 = 0.4771 < log2 = 03010 /1 (v)
If log2 = 0.3010, log3 = 0.4771, log5 = 0.6990 then find the value of log32.

Define algebraic expression. oy Al SA (vi)
Simplify: (5 ++3)/5 =+/3) (5 +3)Y5=A3) &4 (vid)
Factorize: 8x> —27y° 8x3 —27y* 1A GiiD
Factorize: 2y*+5y-3 2y* +5y =3 &4 (i

ez Langedd 3
39x7y’z, 91x°y®2’ éf()’”{‘”uko @
4% ~103<21x~1.8 :E S SUd# (D)

Write short answers to any SIX parts.
Find the HCF: 39x7y3z s 9lx5y(’z7

Solve the inequalities: 4x ~10.3 <2ix 1.8
Define strict inequalities. -c":J/TJobL/ &by (i)
Write the given equation in the form of y=mx+c¢: 7-3x+4y=0 d’f J‘(’Jy mx+c [\-AJLr"dFdJ (iv)

F=-§C+32,C=§(F—32)/fiun/.ix.gwjJd)?}..‘ﬂu/bmJ{L{4:,Jl,7.?/)¢//é‘:/(ﬁ” W)

Find out for which temperature C°® and F° reading will be same if F = 2C +32,C= —g—(F— 32)

5
Find the mid-point between two points: A(3,~7), B(4,-2) A3 ,-7),B(4,-2) Zg___{()’”,b'é&y/)ﬂ@u (v
Define coordinate geometry. S /7J S zaaifd (viD)
A

Z_/()"’Aﬁ’g!x »lm rk’tguﬁﬁjwﬁfw(viii)
B Mo Find the value of unknown x and m for the given congruent triangles:
el U 2 éﬁ”ww&umdtéwm( 130° o LK $n L11 (i)

If one angle of a parallelogram is 130°. Find the measures of its remaining angles.

Bl angedd A

Write short answers to any SIX parts.

I i\ mBL s mAL S mAB = 6cm Sl S ¥ AB 155 CD LSS

A L o CD is right bisector of the line ne segment AB. If mAB=6cm then
L find the value of mAL and mBL
D

; TR SRy 1] 2 525
Verify that 3cm, 4cm, Scm are the sides oftrianglé? LDV Jtm;aw Scm « 4om « Jom S ZE et (i)
Define ratio. . “FEw e (i
() \/

N
*
L P




Find the value of x: lem - 2 fem :g:"(}*”o{’Jx (iv)
~ FRO-2-2-7

lem fem
. ¢c=13cm«b=5cm«a=12cm ,wa,,lﬂs-,isungcuznZé.,,rg{(zﬁ W)
Verify that a = 12cm, b= Scm, ¢ = [3cm are the sides of right angled triangle.
- Scm CU;AA’ 10¢cm /fﬁ’JaﬁGgﬂ(ﬁér:L"}/Kw (vi)

Find area of triangle whose base is 10cm and altitude is Scm.
- 8cm ) 8cm

Find the area of parallelogram: / |4cm - :é()*‘,?;%ﬂhmdﬂ? (viD)

Define orthocenter. ~“éf:ijy/jg}//;"}";/f(viii)
Construct a triangle PQR: mFé =6cm , maﬁ =4.5cm , mPR =5.5cm AU et PQR &t (ix)

wiselb il 9 /Jlr-u!/:} 08 LJ'}’/;-;:;/,}@U,ZL@UVJc:..&ft(lu,ﬁ
Part - II, Attempt any THREE questions. Each question carries 08 marks.
Question No. 9 is compulsory.

04 4x—y=2;3x+3y=3 :ESc LA FL (D) 5
Solve the linear equations by Cramer’s rule: 4x ~y=2;3x + 3y78

e (83 —(3)"'(243) @D 3°-(3)""'(243) . -
0 : (S5 -
4 Simplify ) ©™3) A7 (L)

. Yo tabilas & L 0.678x9.01. 0.678x9.01 - ¥ o g
04 Use log tables to find the value: 0034 ST 'ﬁ'ﬁ;dﬂ@b‘(fdw(ﬁ (L) -6

04 If x+ =4 , then find x3+—l—3 _gf.;pl”ufd/x3+%inx+—l~:4//! st
X X : X X

04  Factorize: 25x> —10x +1=362° 25x% —10x +1-3622: 2§57 () -7
04 Bt 12x’ +37x2 —82x+k &bl S e ek ()

Find the value of k for which expression will become a perfect square:
4x* -12x +37x* -42x +k

04  Solve the equation: X -2 2 , B2l L el (L) -8
3x-6 X2 -
04 mAB = 3.6cm, mBC =4.2cm, m/B=75° ﬁgytéug:lJLJ!J;lé,& ABC &ds (O)

Construct AABC and draw its angle bisector when: mAB = 3.6cm, mBC = 4.2cm, m£B = 75°

_ctz.t'n.lﬂwld)t/cufﬁydiu’iﬂ;@ﬁ@_ﬁitéd_f:'}&ff%&f’ -9
Prove that any point on the bisector of an angle is equidistant from its arms.
- OR | -

-L,(u;f/,!/:uf,}'mun/,!/,(/w/l/:lt,xl?Lﬁﬂ&lfgiat“

Prove that triangles on equal bases and of equal altitudes are equal in area.



